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CINETE I -TETE
1FACA
=] 4£j|a1%x-|uxr Al
(MainEngine) gg%i]g%ox' 1 A 2,355,000 2,383,000 2,369,000
4)Std'Acc's
o3, &
(Anchor ) StockType x 1ea 1M 15,000 15,000 15,000
AOIE 22t M/EBeltDriven
(SideRol ler) Rol | x 1ea 1A 474,000 474,000 474,000
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Fy RSt 16 i 505,000 | 510,000 507,500
S| 3,349,000 | 3,382,000 3,365,500
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HOIZ2H(H) Sl 5 | = St ([ ©
ot g 5 g ZER T gady(e) |HENESE) | EAE
SN | aNUTH (B) i
1) AL
=)z g A=A R
(WaitEngine) g;ééiﬂéiiﬁc’xl 1 2,355,000 | 2,383,000 2,369,000
4)Std'Acc's
=2 _
e lot ter ) NAV 1 S-2600 1o 1,252,000 | 1,252,000 1,252,000
o5, o
(Anchor ) StockType % 1ea 1 O 15,000 15,000 15,000
23z}
(ol ler) HandType 1 Al 87,000 87,000 87,000
ors ) Hyd Type 1 Al 1,160,000 | 1,136,000 1,148,000
&S Roll x Tea B S S T
=
Fut EEES e 151,000 151,000 151,000
AEETEIS
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02
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b
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30
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1S ACI
1 )| 2t 2)%7'3*%7% TP 1Al 4,379,000 | 4,431,000 4,405,000
py 'l_ H O—ILEOi -/ k) f) y ’ i) i)
(MainEngine) NE=HHT
4)Std'Acc's
2 2, & Stock 1 1Al 15.000 15,000 15.000
(Anchor ) tockType X 1ea Al , , ,
AO|E 22} M/EBel tDriven
NO. (M : 85A5, ASK : HE0H
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o1 8 g o 72 - 8 S - mao2(e) |HANB(R) | ()
StLM2 A A2 (B) (Ai8)
1)C| &

=J|2 01 e xis Al

1 (i eEngine) gg%?@% Xt 5| Al 16,102,000 | 16.243.000| 16,172,500

4)Std'Acc's

ZEFD| Hyd' Type +

2 ey inaSysten) vd Jtvee | Al 1,422,000 | 1,406,000 1,414,000
LH&l B

3 lanet i cCompass) ®200mm A 59,000 59,000 59000
rEE

4 e Tacty ienSoreen) ® 250mm oy 87.000 86,000 86,500

5 cfl Ol Ct JMA-2300 o 832,000 832,000 832,000
(Radar) , : ,

6 pRay SS-2710A o 175,000 181,000 178.000
(SSBTransceiver) ' ' ’

7 Py STR-60008 W 398,000 378,000 388,000
(VHFTransceiver) ' ’ '

8 PRty ST-2700 o 943,000 978,000 960,500
(SSBTransceiver) ’ ’ ’
=g .

9 NAV|S-5100A W 1,113,000 | 1,113,000 1,113,000

(GPSPlotter)
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0
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L

RV-10GP7
A1S-50N

StockType X 2ea

M/EBeltDriven
Rol | x 2ea

1)SwitchBoard
2)Std'Acc's
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&
Roll x 1ea

Hyd'Type
Rol | x 3ea

Hyd'Type
Rol | x 3ea

Hyd' Type
Rol | x 3ea

—_
~—

=
2
0K
MHH

33

CH

989,000

816,000

170,000

781,000

279,000

87,000

378,000
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, 160,000
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9,000

729,000
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816,000

170,000

781,000

279,000
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378,000

,392,000
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9,000

729,000
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816,000

170,000

781,000

279,000

87,000

378,000

,392,000

, 148,000

, 148,000

9,000
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2) SR
NO. S . 2=US, AKX @ FEzAl)

=&

(MainEngine)

ZEFD|
(SteeringSystem)

&I
(VHFTransceiver)

Z 2
(GPSPlotter)

STR-60008

5,637,000

775,000

736,000

3,003,000

5,704,000

775,000

699,000

3,003,000

5,670,500

775,000

717,500

3,003,000
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(MainEngine) NEH =T
4)Std'Acc's
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AOIE 22t M/EBel tDriven
chels
4 F=4t N2s= 8 HI# 151,000 151,000 151,000
2) S HH
oIE=E
5 F=4t 1)5'_?'% 7 Hi# 154,000 154,000 154,000
2) S H
NO. 10 & Hots, 48K  0|FY)
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[
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=
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Al
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WA,

(SSBTransceiver)

(Anchor ) StockType x 1ea M 25,000 25,000 25,000
AOIEZ22t M/EBel tDriven
(SideRol ler) Rol | x 2ea A 063000 663,000 663,000
or 7| Hyd Type Al 995,000 975,000 985,000
e Rol | X lea - ’ ’ ’
L} /&Il-i| [=)
=y e B2y 126,000 126,000 126,000
B 4,254,000 | 4,263,000 4,258,500
MY AST B )
Il ()
ol i = o SEN PN S 2t HT02 ()
ol 2A A2t N
1)CI&
=& 6£j|aigx1 o X} % Al
(Vi tEngine) %%;—éﬁg% xR Al 5.637.000 | 5,704,000 5.670.500
4)Std'Acc's
ZEP Hyd' Type Al 775,000 775,000 775.000
(Steer ingSystem) - ’ ’ ’
paey SMT-1027 o 173,000 181,000 177,000




(%GPESE, otter) NAV1S-2600 oo 580,000 580,000 580,000

?;iﬁiﬂje'r) HE-705MK I o 647,000 647,000 647,000
E‘)?H;?]j;ﬁ(% ) StockType x Tea 1 M 25,000 25,000 25,000
R N/EBe] {0 iven N 781,000 781,000 781,000
(e ick) SS o 351,000 351,000 351,000
s Sui tehBoard 1A 279,000 279,000 279,000

1
(ElectricEquipment) 2)Std'Acc's

g2 M/EBel tDriven T A 238,000 255,000 246,500
g A 9,486,000 9,578,000 9,532,000
.13 (849 @ RolsE, 49X @ 012Z)
BII2(R) = | mne
ot g 5 g ZE R N gz (e) |HENESE) | EAE
sUE | sy
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=) 2 JIEE
1 (VainEngine) 1S 1Al 5.492.000 | 5,492,000 5,492,000
2 d2lE ®300 1o 109,000 108,000 108,500
(ClearViewScreen) fim ’ : ’
o=
3 =y NEEES 4 B3 88,000 88,000 88.000
AT
L2
4 =y 1)@= 4 v 88,000 88,000 88.000
2) S HH A
5 =u =08 600 i 540,000 540,000 540,000
=S 2 0ieHK| : : :
6 = 1ol 54 B3 1,706,000 | 1,722,000 1.714.000
== 1) 4 ohat 706, ez, 714,
s 7 8,023,000 | 8,038,000 8,030,500
NO. 14 (M OS5, ASK} : A=)
o2 () et any | sy
ot ¢ 5 g ZE R T gad(w) |HENESE) ) EAE)
SUZE | yUzE it ik
=\ sl o
1 (Mainengine) 0PS 1Al 16,092,000 | 16.092.000| 16,092,000
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(%if:\” ewSor een) ®300mm 1o 109,000 108,000 108,500
V-PASS SPA-900 1o 1,372,000 | 1,372,000 1,372.000
HH ot
(OAnCHcTr) StockType X lea 1 N 20,000 20,000 20,000
22t Hyd'Type
Goller) Hyd Type 1 Al 820000 820,000 820,000
oro} 7| Hyd Type 1Al 3,516,000 | 3,489,000 3,502,500
e < Rol | x 3ea - ’ ’ ’ ’ ’ ’
s 7 21,929,000 | 21,901,000| 21,915,000
15 (M9 @ HBYAS, AST : 227X
- . gorsa(d) o | BHETEz(@) | e E)
o = 4 7= S Al = = HRJIAE(H) (IB_) = (A‘l'BI)_
SHLIZH A A2t H
1)CI&
=& 2)65751 o x| 1Al 12,788,000 | 12,900,000 |  12.844.,000
(MainEngine) 3)2;‘2_;#;3%0 - ' ' IV ’ '
4)Std'Acc's
LEH Hyd' T 1Al 860,000 846000 853,000
(SteeringSystem) y ype - ' ’ '
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StockType X 1ea

M/EBel tDr iven
Rol | x 2ea

SS

1)SwitchBoard
2)Std'Acc's

HandType

1)NetPart
2)Pipe
3)Rope

Net Part

um

i
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